
V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V



V12 = 345 + 200j V     V23 = -400j V    V31 = -345 + 200j V

EG1 = 230 V     EG2 = -115 - 200j V      EG3 = -115 + 200j V



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R1 = 50  1/(C1) = 150 

R2 = 100  L2 = 100 

1/(C3) = 100 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R = 40  1/(C) = 69 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R1 = 150  L1 = 150 

R2 = 100  1/(C2) = 100 

L3 = 100 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG1 = 200 - 115j V     EG3 = -200 - 115j V

R = 23  L = 69 



V12 = 150 V     V23 = -150j V     V31 = -150 + 150j V

R = 10  L = 5 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R = 5  L = 30  1/(C) = 20 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R = 10  L = 30 



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R1a = 50  L1a = 50 

R2a = 100  1/(C2a) = 100 

R3a = 100  L3a = 100 

Rb = 50  Lb = 100 



Ra = 50  1/(Ca) = 30  La = 45 

Rb = 45  Lb = 15 

Rc = 5 

Veff = 520 V      Eeff  300 V



Ra = 50  1/(Ca) = 30  La = 45 

Rb = 45  Lb = 15 

Rc = 5 

Veff = 520 V      Eeff  300 V





La = 10  Ma = 5 

Rb = 15  1/(Cb) = 15 

Rc = 5 

V12 = 345 + 200j V     V23 = -400j V    V31 = -345 + 200j V

EG1 = 230 V     EG2 = -115 - 200j V      EG3 = -115 + 200j V





EG = 1200 V 

Ra = 30  La = 15 

1/(Cb) = 10 

Rc = 10 



EG1 = 230 V     EG2 = -115 - 200j V     EG3 = -115 + 200j V

L1 = 5 

R2 = 5  1/(C2) = 5 

R3 = 5  L3 = 5 

RL = 5 



R = 10  L = 10  1/(C) = 5 

V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V



V12 = -200 + 345j V     V23 = 400 V     V31 = -200 - 345j V

EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V

R = 10  L = 10  1/(C) = 10 

Z = 2 - 6j 



A.A. 2014-15  Prova n. 6  (22-7-2015)

XL1 = 20 

R2 = 10  XL2 = 5 

XL3 = 60 

PU10 = 18 kW             cosU1 = 2/2

PU20 = 43.2 kW          cosU2 = 0.8

EG = 600 V



A.A. 2014-15  Prova n. 7  (3-9-2015)

R1 = 30  XL1 = 10 

R2 = 5  XL2 = 25 

R3 = 120  XC3 = -60 

PU = 6 kW             cosUn = 0.8

iU(t)= 5 2cos(100t)  A



R1 = 10  XL1 = 10 

R2 = 10  XL2 = 5 

VUn = 500 V          SUn = 10 kVA cosUn = 0.6

Ve = 400 V

f = 50 Hz

cos’ = 0.9

A.A. 2014-15  Prova n. 8  (17-9-2015)



EG1 = 230j V     EG2 = 200 - 115j V     EG3 = -200 - 115j V
R1a = 5  XL1a = 5 
R2a = 10  XC2a = -5 
R3a = 10 
R1b = 10  XL1b = 10 
R2b = 10  XL2b = 5 
R3b = 10  XC3b = -5 
Pc = 25.5 W       cosc = 0.8

A.A. 2016-17  Prova n. 5  (5-7-2017)


